

ABC Bid Data

BEDFORD 43138 X-A005(049)

PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER: DATE BIDS OPEN: SCOPE OF WORK:	BEDFORD 43138 X-A005(049) March 31, 2022, 2:00 Rehabilitate 72" cmp carrying Bowman Brook under Route 114	Awarded To: Amount:	BUSBY CONSTRUCTION INC. 71 ROUTE 111 ATKINSON, NH 03811 \$574,955.00	CO., Certified by:	PETER.E.STAMNAS
COMPLETION DATE: LOCATION:	October 28, 2022 District 5, Hillsborough	Award Date:			Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
BUSBY CONSTRUCTION CO., INC.	\$574,955.00	А
71 ROUTE 111, ATKINSON NH 03811		
NORTHEAST EARTH MECHANICS LLC	\$841,560.00	В
159 BARNSTEAD ROAD, PITTSFIELD NH 03263		



ABC Bid Data

BEDFORD

43138

				PS&E		BUSBY CONSTRUCTION CO., INC. 71 ROUTE 111 ATKINSON, NH 03811		NORTHEAST EARTH MECHANICS LLC 159 BARNSTEAD ROAD PITTSFIELD, NH 03263			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total		
Items	tems										
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	50.00	\$9.00	\$450.00	\$10.00	\$500.00	\$10.00	\$500.00		
201.882	INVASIVE SPECIES CONTROL TYPE II	SY	600.00	\$7.00	\$4,200.00	\$10.00	\$6,000.00	\$6.50	\$3,900.00		
203.601	EMBANKMENT-IN-PLACE	СҮ	100.00	\$22.00	\$2,200.00	\$26.00	\$2,600.00	\$30.00	\$3,000.00		
206.1	COMMON STRUCTURE EXCAVATION	СҮ	25.00	\$45.00	\$1,125.00	\$45.00	\$1,125.00	\$50.00	\$1,250.00		
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	СҮ	5.00	\$100.00	\$500.00	\$80.00	\$400.00	\$150.00	\$750.00		
214.	FINE GRADING	U	1.00	\$1,000.00	\$1,000.00	\$7,600.00	\$7,600.00	\$2,000.00	\$2,000.00		
503.101	WATER DIVERSION STRUCTURE	U	1.00	\$35,000.00	\$35,000.00	\$85,000.00	\$85,000.00	\$225,000.00	\$225,000.00		
503.102	WATER DIVERSION STRUCTURE	U	1.00	\$5,000.00	\$5,000.00	\$6,900.00	\$6,900.00	\$5,000.00	\$5,000.00		
520.32	GROUTING VOIDS IN BACKFILL MATERIAL	СҮ	20.00	\$475.00	\$9,500.00	\$475.00	\$9,500.00	\$300.00	\$6,000.00		
571.1	REPAIRING AND POINTING STONE MASONRY	SY	25.00	\$425.00	\$10,625.00	\$250.00	\$6,250.00	\$350.00	\$8,750.00		
585.3	STONE FILL, CLASS C	СҮ	25.00	\$80.00	\$2,000.00	\$55.00	\$1,375.00	\$60.00	\$1,500.00		
585.3401	SIMULATED STREAMBED MATERIAL	СҮ	80.00	\$50.00	\$4,000.00	\$62.00	\$4,960.00	\$75.00	\$6,000.00		
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON-WOVEN	SY	75.00	\$6.80	\$510.00	\$5.00	\$375.00	\$5.00	\$375.00		
593.521	PVC GEOMEMBRANE LINER (40 MIL)	SY	210.00	\$17.00	\$3,570.00	\$25.00	\$5,250.00	\$5.00	\$1,050.00		
602.63972	CURED-IN-PLACE LINER FOR 72" PIPE (CONTRACTOR'S OPTION)	LF	119.00	\$1,500.00	\$178,500.00	\$1,650.00	\$196,350.00	\$2,500.00	\$297,500.00		
603.0001	VIDEO INSPECTION	LF	105.00	\$8.00	\$840.00	\$35.00	\$3,675.00	\$15.00	\$1,575.00		
603.34130	30" STEEL END SECTIONS	EA	1.00	\$600.00	\$600.00	\$900.00	\$900.00	\$500.00	\$500.00		

16.00

11,920.00

400.00

1.00

3.00

1.00

80.00

\$150.00

\$1.00

\$40.00

\$30,000.00

\$2,500.00

\$50.00

\$50.00

\$2,400.00

\$11,920.00

\$16,000.00

\$30,000.00

\$7,500.00

\$4,000.00

\$50.00

\$275.00

\$1.00

\$43.00

\$14,000.00

\$2,400.00

\$250.00

\$30.00

\$4,400.00

\$11,920.00

\$17,200.00

\$14,000.00

\$7,200.00

\$250.00

\$2,400.00

LF

\$

HR

U

U

EA

TON

FLAGGERS

LAYING/RELAYING 24" DRAINAGE PIPE

UNIFORMED OFFICERS WITH VEHICLE

PORTABLE CHANGEABLE MESSAGE SIGN

MAINTENANCE OF TRAFFIC

STEEL WITNESS MARKERS

EROSION STONE

603.60024

618.61

618.7

619.1

619.25

622.1

645.3

\$4,000.00

\$11,920.00

\$18,600.00

\$20,000.00

\$9,000.00

\$100.00

\$2,080.00

\$250.00

\$1.00

\$46.50

\$20,000.00

\$3,000.00

\$100.00

\$26.00

ABC Bid Data



BEDFORD

43138

				PS&E		71 R	FRUCTION CO., INC. OUTE 111 ON, NH 03811	NORTHEAST EARTH MECHANICS LLC 159 BARNSTEAD ROAD PITTSFIELD, NH 03263	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
645.44	TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY)	SY	90.00	\$5.00	\$450.00	\$6.00	\$540.00	\$10.00	\$900.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	835.00	\$6.00	\$5,010.00	\$6.00	\$5,010.00	\$6.00	\$5,010.00
645.531	SILT FENCE	LF	525.00	\$3.00	\$1,575.00	\$3.00	\$1,575.00	\$4.00	\$2,100.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$3,500.00	\$3,500.00	\$5,300.00	\$5,300.00	\$10,000.00	\$10,000.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	140.00	\$100.00	\$14,000.00	\$90.00	\$12,600.00	\$85.00	\$11,900.00
645.72	FINAL WETLAND IMPACT REPORT	U	1.00	\$1,500.00	\$1,500.00	\$5,500.00	\$5,500.00	\$5,000.00	\$5,000.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	300.00	\$10.00	\$3,000.00	\$10.00	\$3,000.00	\$11.00	\$3,300.00
670.0491	CONSTRUCT AND REMOVE TEMPORARY ACCESS ROAD	U	1.00	\$15,000.00	\$15,000.00	\$17,000.00	\$17,000.00	\$30,000.00	\$30,000.00
670.0492	CONSTRUCT AND REMOVE TEMPORARY ACCESS ROAD	U	1.00	\$16,000.00	\$16,000.00	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00
670.0493	CONSTRUCT AND REMOVE TEMPORARY ACCESS ROAD	U	1.00	\$10,500.00	\$10,500.00	\$22,000.00	\$22,000.00	\$15,000.00	\$15,000.00
692.	MOBILIZATION	U	1.00	\$65,000.00	\$65,000.00	\$55,000.00	\$55,000.00	\$75,000.00	\$75,000.00
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$2,700.00	\$2,700.00	\$3,800.00	\$3,800.00	\$3,500.00	\$3,500.00
698.13	FIELD OFFICE TYPE C	MON	5.00	\$1,850.00	\$9,250.00	\$2,600.00	\$13,000.00	\$2,000.00	\$10,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	7,500.00	\$1.00	\$7,500.00	\$1.00	\$7,500.00	\$1.00	\$7,500.00
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00
			Totals:		\$488,475.00		\$574,955.00		\$841,560.00
			Alt. Totals:						
			Totals:		\$488,475.00		\$574,955.00		\$841.560.00



BEDFORD

43138

X-A005(049)

	Description	T	Quantity	A-Bide	A-Bidder		RE		
ltem No.		Unit		Unit Price	Total	Unit Price	Total	A-PS&E Difference	
Items									
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	50.00	\$10.00	\$500.00	\$9.00	\$450.00	\$50.00	
201.882	INVASIVE SPECIES CONTROL TYPE II	SY	600.00	\$10.00	\$6,000.00	\$7.00	\$4,200.00	\$1,800.00	
203.601	EMBANKMENT-IN-PLACE	CY	100.00	\$26.00	\$2,600.00	\$22.00	\$2,200.00	\$400.00	
206.1	COMMON STRUCTURE EXCAVATION	CY	25.00	\$45.00	\$1,125.00	\$45.00	\$1,125.00	\$0.00	
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	СҮ	5.00	\$80.00	\$400.00	\$100.00	\$500.00	(\$100.00)	
214.	FINE GRADING	U	1.00	\$7,600.00	\$7,600.00	\$1,000.00	\$1,000.00	\$6,600.00	
503.101	WATER DIVERSION STRUCTURE	U	1.00	\$85,000.00	\$85,000.00	\$35,000.00	\$35,000.00	\$50,000.00	
503.102	WATER DIVERSION STRUCTURE	U	1.00	\$6,900.00	\$6,900.00	\$5,000.00	\$5,000.00	\$1,900.00	
520.32	GROUTING VOIDS IN BACKFILL MATERIAL	CY	20.00	\$475.00	\$9,500.00	\$475.00	\$9,500.00	\$0.00	
571.1	REPAIRING AND POINTING STONE MASONRY	SY	25.00	\$250.00	\$6,250.00	\$425.00	\$10,625.00	(\$4,375.00)	
585.3	STONE FILL, CLASS C	СҮ	25.00	\$55.00	\$1,375.00	\$80.00	\$2,000.00	(\$625.00)	
585.3401	SIMULATED STREAMBED MATERIAL	CY	80.00	\$62.00	\$4,960.00	\$50.00	\$4,000.00	\$960.00	
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON- WOVEN	SY	75.00	\$5.00	\$375.00	\$6.80	\$510.00	(\$135.00)	
593.521	PVC GEOMEMBRANE LINER (40 MIL)	SY	210.00	\$25.00	\$5,250.00	\$17.00	\$3,570.00	\$1,680.00	



BEDFORD

43138

X-A005(049)

	Description			A-Bid	der	PS8		
Item No.		Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
602.63972	CURED-IN-PLACE LINER FOR 72" PIPE (CONTRACTOR'S OPTION)	LF	119.00	\$1,650.00	\$196,350.00	\$1,500.00	\$178,500.00	\$17,850.00
603.0001	VIDEO INSPECTION	LF	105.00	\$35.00	\$3,675.00	\$8.00	\$840.00	\$2,835.00
603.34130	30" STEEL END SECTIONS	EA	1.00	\$900.00	\$900.00	\$600.00	\$600.00	\$300.00
603.60024	LAYING/RELAYING 24" DRAINAGE PIPE	LF	16.00	\$275.00	\$4,400.00	\$150.00	\$2,400.00	\$2,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	11,920.00	\$1.00	\$11,920.00	\$1.00	\$11,920.00	\$0.00
618.7	FLAGGERS	HR	400.00	\$43.00	\$17,200.00	\$40.00	\$16,000.00	\$1,200.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$14,000.00	\$14,000.00	\$30,000.00	\$30,000.00	(\$16,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	3.00	\$2,400.00	\$7,200.00	\$2,500.00	\$7,500.00	(\$300.00)
622.1	STEEL WITNESS MARKERS	EA	1.00	\$250.00	\$250.00	\$50.00	\$50.00	\$200.00
645.3	EROSION STONE	TON	80.00	\$30.00	\$2,400.00	\$50.00	\$4,000.00	(\$1,600.00)
645.44	TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY)	SY	90.00	\$6.00	\$540.00	\$5.00	\$450.00	\$90.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	835.00	\$6.00	\$5,010.00	\$6.00	\$5,010.00	\$0.00
645.531	SILT FENCE	LF	525.00	\$3.00	\$1,575.00	\$3.00	\$1,575.00	\$0.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$5,300.00	\$5,300.00	\$3,500.00	\$3,500.00	\$1,800.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	140.00	\$90.00	\$12,600.00	\$100.00	\$14,000.00	(\$1,400.00)
645.72	FINAL WETLAND IMPACT REPORT	U	1.00	\$5,500.00	\$5,500.00	\$1,500.00	\$1,500.00	\$4,000.00



BEDFORD

43138

X-A005(049)

				A-Bido	ler	PS&	λЕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	300.00	\$10.00		\$10.00		· · · · · · · · · · · · · · · · · · ·
670.0491	CONSTRUCT AND REMOVE TEMPORARY ACCESS ROAD	U	1.00	\$17,000.00	\$17,000.00	\$15,000.00	\$15,000.00	\$2,000.00
670.0492	CONSTRUCT AND REMOVE TEMPORARY ACCESS ROAD	U	1.00	\$25,000.00	\$25,000.00	\$16,000.00	\$16,000.00	\$9,000.00
670.0493	CONSTRUCT AND REMOVE TEMPORARY ACCESS ROAD	U	1.00	\$22,000.00	\$22,000.00	\$10,500.00	\$10,500.00	\$11,500.00
692.	MOBILIZATION	U	1.00	\$55,000.00	\$55,000.00	\$65,000.00	\$65,000.00	(\$10,000.00)
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$3,800.00	\$3,800.00	\$2,700.00	\$2,700.00	\$1,100.00
698.13	FIELD OFFICE TYPE C	MON	5.00	\$2,600.00	\$13,000.00	\$1,850.00	\$9,250.00	\$3,750.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	7,500.00	\$1.00	\$7,500.00	\$1.00	\$7,500.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$0.00

Total:

\$574,955.00

\$86,480.00

\$488,475.00